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unknowns
- three angles theta
- three tensions T (magnitude of forces along strings)
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Calculate a partial derivative
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In numpy: f(x + hj/2) will

Gz by o produce a whole column
: ] (all the i for one fixed j) in
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In numpy: f(x + hj/2) will produce a whole column (all the i for one fixed j) in one operation.
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hj = np.zeros(N)
hj[j] = h
J[:, j] = (f(x+hj/2) - f(x-hj/2))/h
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Calculate a partial derivative by only changing the variable at position j and hold all others fixed. Use central difference algorithm.




